

# NPPT





- What is NippleTips? Links & Addresses
- Why NippleTips? 15 Disclaimer
- OS How does it work? Thank You
- **Tokenomics**
- Presale & Staking
- Weighted Rewards
- Let's do the Maths
- The Roadmap
- 12 Cause Allocation
- Final Words

# What is NippleTips?

The NippleTips token (NPPT) is a bold meme token built on Polygon that leverages the power of crypto & community to support breast health and education.

#### **Our mission:**

To leverage viral crypto culture to create real-world impact that funds education, raises awareness, and supports research into harmful chemicals in everyday products that affect breast health.

# Why NippleTips?

Because the internet. And because no one remembers "UtilityChain ProToken v2."

NippleTips token (NPPT) gets attention. We use that attention to make a difference by:

- Promoting breast health and education
- Funding critical research
- Building a long-term, engaged community
- Showing Web3 can be weird, good, and actually useful

We take the cause seriously, not ourselves.

### How does it work?

NPPT is more than a token. It's a system designed to amplify awareness, reward believers, and fund a mission.

- Buy NPPT during the presale using USDC or POL
- Stake tokens from each round & earn a share of unsold NPPT
- Or Claim your tokens immediately after purchase
- Either way, support breast health initiatives while joining a one-of-a-kind community

The earlier you join, the more you benefit, but every round supports the cause.

A meme token with real purpose, supporting breast health and education through crypto & community.

#### **ATTENTION:**

YOU CAN MAKE MULTIPLE PURCHASES, STAKES, AND CLAIMS PER ROUND. WEIGHTED REWARDS ASSIGNED BY ROUND. Read the following sections for more details.

# Tokenomics

Total Supply = 8,008,580,085 NPPT

6 Presale Rounds of	<b>Total Presale 60%</b> = 4805148051 NPPT Each Round =
1096	200,252,002.5
Marketing	
1096	200,252,002.5
Team	
1096	200,252,002.5
The Cause	
1096	200,252,002.5
Liquidity	
1096	200,252,002.5
*Cause Tax Aft	er Presale
Buy/	SELL 0.20025%

### AFTER PRESALE ENDS:

BOOBS TAX: 0.80085% on DEX buys/sells

- Automatically routed to the Cause Wallet
- Transparent & verifiable
- Ensures project longevity

# Presale & Staking

- 6 Presale rounds. Last round ends 09-30-2025 23:59:59 UTC
- Each round releases 10% of the Totaly Supply = 800,858,008.5
  NPPT (spells "BOOBSBOOBS")
- 4,805,148,051 NPPT across all 6 rounds
- NPPT token price will start at US \$0.001 and increase by US \$0.0002 each presale round
- Users can Claim their tokens or Stake them for their share of weighted rewards

#### After all 6 Presale rounds end:

- Unsold tokens go to Stakers on Oct. 31st, 2025, proportionally based on the weighted rewards scale
- Earlier rounds = bigger staking weight (see How Weighted Rewards Work below)

#### **ATTENTION:**

You can make multiple purchases per round. You can Claim multiple times per round. You can Stake multiple times per round. You can also do partial Claims & Stakes if desired.

### Example:

1. John purchases 10,000 NPPT in Round 1. He can claim and/or stake as little as 20% and up to 100% of purchased NPPT anytime before October 1st, 2025. However, if he doesn't create a stake until Round 3, he will receive weighted rewards for staking in Round 3, even though the tokens were purchased in Round 1. Additionally, if he doesn't decide until after October, 1st 2025, he will no longer be able to stake them. He will only be able to claim any remaining tokens.

#### **ATTENTION:**

IF YOU PLAN TO STAKE IN ROUND 6, YOU MUST CREATE THE STAKE BEFORE THE ROUND ENDS AT 23:59PM UTC ON SEPT 30, 2025. AFTER THAT TIME, YOU WILL NOT BE ABLE TO STAKE THE TOKENS. YOU WILL ONLY BE ABLE TO CLAIM THEM.

# Weighted Rewards

When you stake your NPPT from the presale, you're eligible to earn a share of any unsold tokens and your share is boosted depending on which round you staked in. The earlier you buy and stake, the bigger your share of the bonus!

|--|

- If you purchase NPPT in Round 1 and stake it in Round 1, your reward weight is 6×.
- If you purchase NPPT in Round 6 and stake it in Round 6, your reward weight is 1×.
- That means your Round 1 purchase earns 6× more of the bonus token pool than your Round 6 purchase.
- However, if you purchase in Round 1 and stake in Round 6, your reward weight is 1x.



# Let<sup>9</sup>s do the Maths

If a User Stakes 1,000 NPPT Each Round

- Round 1: 1,000 NPPT × 6× weight = 6,000
- Round 2: 1,000 NPPT × 5× weight = 5,000
- Round 3: 1,000 NPPT × 4× weight = 4,000
- Round 4: 1,000 NPPT × 3× weight = 3,000
- Round 5: 1,000 NPPT × 2× weight = 2,000
- Round 6: 1,000 NPPT × 1× weight = 1,000

```
UserWeighted = 6000 + 5000 + 4000 + 3000 + 2000 + 1000 = 21,000
```

Assuming Global Stake Totals Per Round:

- Round 1 Total: 100,000 NPPT × 6 = 600,000
- Round 2 Total: 120,000 NPPT × 5 = 600,000
- Round 3 Total: 200,000 NPPT × 4 = 800,000
- Round 4 Total: 250,000 NPPT × 3 = 750,000
- Round 5 Total: 300,000 NPPT × 2 = 600,000
- Round 6 Total: 500,000 NPPT × 1 = 500,000

```
Global Weighted Total = 600,000 + 600,000 + 800,000 + 750,000 + 600,000 + 500,000 = 3,850,000
```

User's Reward Share % (21,000 / 3,850,000) × 100 = 0.5455%

# The Roadmap

### Phase 1: A Meme with Meaning

- Deploy NPPT Token Contract
- Deploy NPPT Presale Contract with Staking
- Official Launch Assets:
  - Website: nppt.xyz
  - Telegram: [@NippleTips](https://t.me/NippleTips)
  - Twitter/X: [@NippleTips](https://twitter.com/NippleTipsToken
- Launch Presale Dashboard: nppt-presale.xyz
- Start Presale Round 1 of 6
  - 6 rounds, 800,858,008.5 NPPT each round
  - Buy with USDC or POL at \$0.001 per NPPT in Round 1
    - NPPT price increases by US \$0.0002 each round
- Claim or Stake during each round, after purchasing
  - Weighted reward system
  - Final round ends September 30, 2025 @ 23:59pm UTC, so make sure to stake tokens purchased in Round 6 before this time. After this time, those tokens will only be claimable.

### Phase 2: Full Utility & Ecosystem Expansion

- Pair & Lock Liquidity (10%)
- DEX Listings + Price Tracking
- Transparent Tax on every DEX Buy/Sell goes directly to the

### Continued on next page

- Cause Wallet (0.80085%). NO TAX ON PRESALE.
- Community Growth Campaign (memes, influencer collabs, giveaways)
- Releease NPPT Meme Packs + Sticker Drops
- NPPT Merch Store (100% of profits toward the cause)
- Announce Upcoming Events & Partnerships
- CEX Listing & Community Voting

### Phase 3: Continuing the Mission

- Set up the Foundation
- Apply for Grants to Further Our Reach
- Continue Partnering with Verified Nonprofits focused on Breast Health
- Fund Early Detection Tech & Care Access
- Launch a Global Initiative for Underserved Regions
- Produce an Documentary
- Keep the Meme Alive while Doing Real-World Good

### Cause Allocation

- The 0.80085% tax from every buy/sell funds the Cause Wallet
- Funds will go toward breast health and education, and other related initiatives
- All wallet activity is on-chain and visible to anyone
- No middlemen. Just a crypto meme token with a goal of helping humans.

# Final Words

This isn't a joke.

It's a real project using a meme token to do meaningful things.

Welcome to \$NPPT, where meme meets mission.

Together we can leverage viral crypto culture to create real-world impact that funds education, raises awareness,& supports research into harmful chemicals in everyday products that affect breast health.

Need more info?

Head over to our Telegram. @NippleTips You'll find more info and answers to your specific questions. You can also chat with other supporters, stay up-to-date with our progress and be the first to hear new announcements.

Just here to trade? That's great too! We made sure to craft a valid viral crypto meme so you could utilize your diamond hands to grab on to this rocket ship as it blasts off.

Have fun, stay safe & DYOR

See you on the Moon



### Links & Addresses

WEBSITE: nppt.xyz

PRESALE DASHBOARD: nppt-presale.xyz

**TELEGRAM**: @NippleTips

X: @NippleTipsToken

INSTAGRAM: @NippleTipsToken

**EMAIL:** NippleTipsToken@gmail.com

#### **NPPT Token Contract Address:**

0x146595ac1D9d2B3A44FBFAF944724aeaBF0Fd99A

#### NPPT Presale Contract Address:

0x6920EBA51421dd58A53F1cBa58866066Edd2BD4c

#### NPPT Team Wallet:

0x69497B87249b4284233bf5749930E785b1ce93F2

### NPPT Marketing Wallet:

0x52c7B382d8f9Ca08dF4be7016964Eee9e6f9183C

### NPPT Cause Wallet:

0x3037056437B7a55d48314EB77a4d62Ce2f649C87

## Disclaimer

This project and the NippleTips token (NPPT) are intended for entertainment, education, and community engagement purposes only. NPPT is a meme token and not an investment vehicle. The value of NPPT may fluctuate significantly and could result in total loss of funds. Nothing in this whitepaper, website, or related materials constitutes financial advice, investment advice, or a recommendation to buy or sell any financial instrument.

By participating, you acknowledge that you are acting at your own risk, and you should conduct your own due diligence. We recommend consulting with a licensed financial advisor in your region before making any decisions involving cryptocurrencies.

This project does not constitute a financial promotion under applicable regulations, including the UK FCA Financial Promotions Regime. NPPT is not intended for distribution or use in any jurisdiction where such activity is restricted or prohibited by law.

The NippleTips token is about freedom, humor, and building something fun together, not guaranteed returns. Let's keep it weird, but let's also keep it smart.



